HE4%V:

SBUBEN
- KASSEL

RANGLISTE MITGLIEDER +

(MITGLIEDER MIND. 36% GESPIELTE SERIEN)

21. SPIELABEND AM 13.03.20

DI. 10. MARZ FR. 13. MARZ GESPIELTE SERIEN VERL

RANG NAME SCHNITT| + /- || GEW | VERL
1.SER.| 2. SER.| GES. || 1.SER.|2.SER.| GES. A| V % GEG
= |LOHSE, MI. 2 3 1.235 10,7| 1,3 | 6,0
= |RUHKAMP 781 |[1.731 2 | 10 1.220 14,429 | 3,6
1 [ = |[BAUCKLOH, A. 931 1.588 | 1.117 8 |34 |8%| 1140 | +14 ||11,3( 1,4 | 6,2
4 |V.ROOS 0 7 1.130 13,0 2,3 | 4,9
2 | = [mauL 18 | 23 | 64% | 1.060 11,9 2,3 | 5,0
3 | = |HONAUER 1.548 | 1.125 2 | 19 | 46% | 1.048 11,6 [ 2,4 | 5,9
4 | = |BRAUNHAHN 1.312 1.723 | 652 12 | 23 | 61% | 1.039 | +14 [J12,0| 2,5 | 4,4
5 KURING 115 1.323 12 | 13 | 37% | 1.003 | +27 |J11,8| 2,5 | 4,6
6 | = |BREITFELD 1.192 18 | 44% | 969 10,323 |53
7 |1 |DELLITH 27 | 64% | 942 96 |16 |43
8 (Vv 1.453 697 16 | 38% | 930 -15 J]10,1| 1,6 | 4,8
9 (1 JWINTER 16 | 16 | 46% | 906 96 |18 |48
10 | |BAUCKLOH, W. || 1.055 425 | 998 34 | 85% | 906 -12 1| 84 |09 |59
11 POTTER 16 | 39% | 900 98 (23 |54
= pust 14 | 6 871 9,5 | 2,0 | 4,5
12 |1 [KEIM 1.251 | 619 2 | 24 | 58%| 866 81 (11|54
13 |1 |GANTE 940 | 1.260 1.037 | 914 10 | 40 |100%| 857 +6 ||10,8| 3,0 | 4,6
14 |4 |SKWARSKI 1.054 583 18 | 20 | 56% | 856 14 |1 99 |27 | 5.4
15 | = |JEWERT, W. 391 | 935 30 | 72% | 847 86 |17 | 49
16 | = |[KUDERLING 28 | 69% | 818 84 (19 |51
17 | = |GESSNER 876 |1.030 400 |1.180 17 | 41% | 792 = 9,1 |20 |42
18 | = |JEWERT, UWE 1.046 | 530 30 | 72% | 774 7,7 | 1,4 | 5,7
= |KOSSINGER 12 | 6 695 7,2 | 2,0 |43
19 | = |BLAUERT, A. 470 | 490 821 | 500 32 | 77% | 617 +3 |62 |15 |46
= |PORTER 10 492 7531 |34
= |LOHSE, MA. - 2 | 5% | 1.239 10,5 | 0,0 | 4,0
= |GRECIC - [ 11 ] 26%| 836 73|10 |65
= |BOHM - 2 5% | 834 6,500 |70
= |WIESER - 6 |14%| 821 9,0 |23 |52
= |DILCHER - 4 |10%| 789 7,8 | 1,5 | 45
= [REITZE, A. - 2 | 5% | 787 75|15 |35
= |HEYNER 477 - 3 | 7% | 777 6,7 | 1,0 | 6,7
= |REITZE, R. - [ 11 ] 26%| 766 7,9 | 1,9 | 4,7
= |APPELBAUM - 1 | 2% | 289 50 | 4,0 |90
= |KAUFMANN - 1| 2% 173 6,0 [ 4,0 |20
= |[UNBEKANNT - 1 | 2% | -309 8,0 |80 |20
DURCHSCHNITT | 831 9,4 |18 |50




